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POLITICAL SCIENCE

( Core )

Paper: PSCC2

( Indiaa Government and Politics I

Flil Marks:80
Pass Marks:24
Time:3 hours

Tle figures in tle margin indicate full marlcs

forthe qtestiorts

1" eqg frqTrqrT{ frafIr{{lft b-er ftil : 1 x8=8

Answer the following as directed :

(Turn Ouer )

(a) qrfrrtfr-{ tR{rr EaFFH rEI q$s fqRE

The first meeting of the Constituent
Assembly was held on

(t) b cqegTq, )b8s D-{s

8th September, L946
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l2)

@ b &cuT{, )b8s D-{s

9th December, 1946

(iii) >o kuT<, )b8u 5;18

10th December,1946

(iul sfl{E 'qti\e I-$
None of the above

( eq Gs<fi qr&. Gfrs< )

( Choose the correct answer )

(b) s-a< 5qin..tT q{a{ cfi{lq< 6qq {q{ ? ..-,-*<-.

Which of the following is not a source of

the Indian Constitution?

(n sK\o tr{TK qfr4, >xuc

The Government of India Act' 1935

(u) BEq qqcq< qRI

l,aws of British Pariiament

(rt, freqq qifi{H

Foreign Constitutions

[ul qIilRr{T $ft{sr< (qlr"tlflq

American Declaration of IndePen-

dence

( uq ffil qrRGfrea )

( Choose the correct answer )
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{c) 1iqn< $qT srfqrflr.r- con+ xsi"i&q +r< r
Who presides over the joint sessions of
the Parliament?

(d) sT-<\5<f{ flefl'Brq cqtgq-s,rr ftqtEgjq qqTrs
q-fiIftr= +R1 qnEr

How many members of the Lok Sabha
can be nominated by the president of
India?

(e) ET-{-s<t'{ c$rq?I-{ xfrEn rwT{ft"c-T €F-qT
rTsrRs-{ cqtnqr <TT{ q{r \) <qfi ffiT
>uqqRtq aq $RREt

Which Amendment of the Constitution of
india reduced the voting age limit from
21 years to 18 years of Indian citizen?

A mk"s rhrcT qrcq ft I
What is judiciai activism?

(g) q(fr<r+{ >ai q-*qq r'rc wE<{ fqR 

-- 
r

Article 1 of the Constitution describes
Indiaasa--- 

_,(( {TEi aR "1<'I <r<T )
( Fili in the blank )
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Act, 1935.
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4x4=L6

following (within

(4 t

(h) rire "tqem-sr aTctfr-s canbq qn ft z

( $r qeT 7 wrfr-+ qfrB / e-qT "rRv )

What is the primary unit of panchayat?

( Gram Sabha / Anchalik Committee /
Zila parishad 

)

( lsq B-oszfi <rE CRso ;
( Choose the correct answer )

2" vqg frnT-6<rr{ 'el<s DT 6I-$T fr"{T (sfrc6T )co qqq \leele/ :

Write short notes on the
15O words each) :

(a) Ssl{{K qm'f

Ideals of the preamble

(b) <rq-KI HqGGo ca[uq

Public interest litigation

(c) qfr<tl-{ {S qT$
The Sixth Schedule of the Constitution

(d) cfr< frem< pft-o
Role of Municipal Corporation

3. ) bsa D-ffi stiile- 5<-$tT qRfi qT qqrElD-{rg.f 
F-flT,{

F{T I t2
Critically evaluate the Government of India
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qtat / or

ryfr- \Tkffir f{FrAHiR frT r ffift_$ qflt_or< qr+
<TA flftDrqTR fiafrgr-ftt"{ a,* +o''"nf+qB
b-rn'q s-{T r 

6+6=12
Write the characteristics of the F\:ndamentalRights. Mention the differences between theFundamental Rishts ,rJ ;;" iir""tir,"Principles of Statelolicy.

4. cqrTsR urh qTT s+q l.rTr

Describe the composition
Lok Sabha.

T{I I 4+T=11

and powers of the

qfur / or
ET-{-s-{$o {afir ttffiqg q;gfts qi.<K T6rq{qqr6qlD-{ w I

Discuss the factors responsible for shrinkingof parliamentarJr supremacy in India.

11

5. EK\e-{ qrR-+ <l-+em f{FBrriR Errqru_fl T<r I

Discuss the characteristics ofjudiciary system.
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(6)

afta1 / or

qTrR"$ qft+t $rE ft $l ? tws{ qJTilqr{ qflR-+

ffiTK .+-{-sl-{ qT T{"rrq}-{rg.+ <fi?in 431 | 4+7=LL

What is judicial review? Critically discuss the

;;; oi.i.trai"iut review of the Supreme Court

of India.

6. sl1q<d< Tc{re<lq< a1fr wt{ 'sT T{rrqTD-{g$

<fi?ifl q15K'(6-1-fl I

Give a critical explanation about the nature

of indian federalism'

q@/ or

c+-s qr+ {rs?i-{ qao crTT qcff4Fs r-"r6lTq <1llTr

$-{T I 
11

Explain the financial relations between the

Centre and the States'

7. qgoq qiR{F q"rfl<fr qF;K TE {<rq{q<f{ffi r e?

qReq {trqr< {sffiF ffiAt+iqs qqq $Req$ Yfr

sKI 6{? <fl?tl] sKI I 8+3=11

Describe the basic provisions 
-of 

the 73rd

Constitutiona-I Ameniment Act' Do you think

that this Act has contributed in political

empowerment of women? Discuss'

11
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,l*T / or
ql?{ fiTHqT{< me TI{ slmqu w s{.n. <rflqsaqr.ttl-fl 

+-<T r q? <tflq.Tq p oR.<h. frBrH *#,rwltK-cqr<Tr ' q 
6+5=i1

Discuss^ 
_the mqjor hindrances for thesuccessful working of the to"rf self_institutions in rndla. Gir. 

";gglllorr" toovercome these hindrances.

***
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